
HARFLER VE SAYILAR  

    

           4+ 2 = 6                               9 – 4 = 5                                 3 X 4= 12 

 

      A+ 2 = 6 ise A=?               9- M = 5 ise M = ?                     S X 4 = 12 ise S = ? 

 

 

       2                     2                     8                   8                        2                      2 

  +   3               +   A                -   2              -   M                  x   5                x    S 

       5                     5                    6                   6                       10                     10 

 

    

      A+ 2 = 10 ise A=?               12- M = 4 ise M = ?                  S X 3 = 15 ise S = ? 

 

      A+ 2 = 8 ise A=?                  9- M = 4 ise M = ?                   S X 2 = 12 ise S = ? 

 

 

       2                     2                     8                   8                        S                      1 

  +   S               +   A                -   M            -   M                  x   5                x    S 

       8                     6                      2                 6                       10                     10 

 

 

       12                                 16                                  5                                  14 

   +  M    ise M = ?           -   S     ise S = ?             x E      ise E= ?           +           ise       = ? 

       16                                 10                                 15                                 20 

 

 

       1 4                                2 6                                  5                                  14 

   + SM   ise S+ M = ?      - MS     iseM+ S = ?    x   E      ise E= ?           +         ise     = ? 

       26                                 1 4                                 20                                 22 

 

    

      A+ 2 = 14 ise A=?               12- M = 7 ise M = ?                  S X 3 = 18 ise S = ? 

 

      A+ 2 = 18 ise A=?                19- M = 4 ise M = ?                   S X 1 = 12 ise S = ? 

 

 

       2                     3                     18                 8                        S                      2 

  +   S               +   A                -   M            -   M                  x   5                x     S 

       2                     6                     10                 8                        5                      10 

 

 

       2 4                                36                                   5                                  1 4 

   + KM   ise M-K = ?       -YS     iseY+ S = ?       x E      ise E= ?           +           ise       = ? 

       38                                 10                                 15                                   3 0 

 

 MİKAİL TOPRA 


